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1
Decision/action requested

Discussion and agreement on the proposed way forward to handle invalid CS fallback related measurement.
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3
Rationale

At SA5#71, the measurement “Number of incoming IRAT mobility events per LA” was added to [2] as following

On receipt by the eNB from UE of an RRCConnectionSetupComplete message in which the most significant bit of the "mmegi" in "RegisteredMME" IE is "0" (see TS 36.331 [8]). Each RRCConnectionSetupComplete message received is added to the relevant per LAI measurement.
It is used to support the use case A.14 in [2]. This defintion was based on the assumption that “the most significant bit of the <MME group id> can be used to distinguish the node type, i.e. whether it is an MME or SGSN.”
At CT Meeting #50 Dec 2010, it was agreed in [3] and [4] that “The requirement to set the most significant bit of the <LAC> to zero is not backward compatible” and it was valid case that “the MSB 0/1 rule is not applied”, i.e. it is not always possible to determine the type of source node during TAU/RAU by only analyzing the most significant bit of the MME group id. As a result, the current definition of measurement “Number of incoming IRAT mobility events per LA” can not achieve its expected purpose any longer. The measurement with current definition is questionable. 

4
Detailed proposal

It is proposed to discuss and decide how to handle this questionable measurement “Number of incoming IRAT mobility events per LA”. 

Option 1: Update the measurement definition to secure it can achieve its expected purpose.
Option 2: If we can not find any reasonable solution to refine it, to avoid useless measurement existing in the spec, we should remove it.
